Z-Score and Normal Table Day 2 - Practice Worksheet

Name _____________________________
1. For the z-scores below, find the percent of individuals scoring::
a) z < -0.47  
b) z < 2.24  
c) z > 1.17  
d) z > -1.37
e) 1 < z < 1.6
f) -3.22 < z < 0.03
2. A patient recently diagnosed with Alzheimer’s disease takes a cognitive abilities test and scores a 45.  The mean on this test is 52 and the standard deviation is 5.  What percent of patients have his score and below? 
3. A fifth grader takes a standardized achievement test (mean = 125, standard deviation = 15) and scores a 148.  
a) What percent of children made less than a 148?
b) What percent of children scored more than 125?

c) What percent of children scored between 110 and 135?

d) If 1250 fifth graders took the test, HOW MANY scored between 110 and 135?

4. IQ scores have a mean of 100 and a standard deviation of 16.  Albert Einstein reportedly had an IQ of 160.
a. Convert Einstein’s IQ score to a z score.

b. If we consider “usual IQ scores to be those that convert z scores between -2 and 2”, is Einstein’s IQ usual or unusual? How do you know? 
5. Women’s heights have a mean of 63.6 in. and a standard deviation of 2.5 inches.  Find the z-score corresponding to a woman with a height of 73 inches and determine whether the height is unusual. 
6. The average speed limit of interstate highways are approximately Normal with a mean of 58 mph and a standard deviation of 10 mph.

a) What percent of speed limits are less than 55 mph?
b) What percent of speed limits are more than 60 mph?

c) What percent of speed limits are between 55 mph and 75 mph?

d) If 5000 speed limits were in this study, HOW MANY speed limit signs were between 60 mph and 70 mph?

7. Three students take equivalent stress tests. Find the following z-scores:
a. Student A: A score of 144 on a test with a mean of 120 and a standard deviation of 34

b. Student B: A score of 90 on a test with a mean of 80 and a standard deviation of 18.  
c. Student C: A score of 18 on a test with a mean of 10 and a standard deviation of 5.  
d. Who scored relatively better on their stress test? 
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 Horses’ Weights.  The distribution of a grown male horse is approximately Normal with a mean of 800 kg and a standard deviation of 54 kg.  Use the Empirical Rule to answer the following questions. 

a) What percent of horses are more than 854 kg? 

b) Between what weights do the middle 95% of horses fall? 

9.  Men’s Heights.  The distribution of heights of adult American men is approximately Normal with mean 69 inches and standard deviation 2.5 inches.  Use the Empirical Rule to answer the following questions. 

a) What percent of men are taller than 74 inches? 

b) Between what heights do the middle 95% of men fall? 

c) What percent of men are between 64 and 66.5 inches tall? 

d) A height of 71.5 inches corresponds to what percentile of adult male American heights. 

